Kruskal’s Algorithm

Example 1
The following network has 9 vertices. The numbers represent the weights of the edges.
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(8) Use Kruskal's algorithm, showing the order in which you select the edges, to find
the minimum spanning tree for the network.

(b)  State the weight of your minimum spanning tree.

(c) Draw your minimum spanning tree.
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(a) Use Kruskal's algorithm, showing the order in which you select the edges, to find the

minimum spanning tree for the network.

(b)  State the weight of your minimum spanning tree.

(c)  Draw your minimum spanning tree.
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Now try these

Question 1.
The following diagram shows the lengths, in miles, of roads connecting ten towns.

Use Kruskal’s algorithm, showing the order in which you select the edges, to find the
minimum spanning tree for the network. Draw your minimum spanning tree and state its
length.

Question 2.

The following diagram shows a network of roads connecting eight towns. The number on
each arc represents the distance, in miles, between two towns.

Mewcastle

Sunderland

Middlesbrough

Use Kruskal’s algorithm to find the minimum spanning tree for the eight towns. State the length
of your minimum spanning tree.
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Question 1.

The following diagram shows the lengths, in miles, of roads connecting ten towns.
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Use Kruskal's algorithm, showing the order in which you select the edges, to find the

minimum spanning tree for the network. Draw your minimum spanning tree and state its
length.

Question 2.

The following diagram shows a network of roads connecting eight towns. The number on
each arc represents the distance, in miles, between two towns.

Newrastle

o . ~use Kruskal's algorithm to find the
minimum spanning tree for the eignt towns. State the iength of your minimum spanning tree.
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